EARAROBEEIERT — 2 N— IBISH —F

201752H8H (k) 25EEME2H

ml@‘ﬁu—lﬁﬂﬂ (37 Y o%3K ‘ [x1z] # ‘ [eErm]  — | &4 (&) 14000 B
[A&4£] 1% :1,100,000 @ ~ 23 :264,000 @  33%&:132,000  ~ 43#&:88,000 ™ . 5 3 :66,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN JIERIE— 132, —1-1- . — EiEe (Fhi)
ilgly1| z—7H1Y 43 S 1(3_2)3 2-1-1-1 | 39.3 1 :1:117) el
R:70)F—v BKRLER N L4505
X p, 32 oo 9| — HEEAL (hk)
207/ 9|A¥— bRy HZR N (13312/2% R ? ?_is) il
R:YIRG4T5R B:YTINNEXR tH #M5B
t 3 | BAEN 1:33.3 9-4-3-4 | 40.1| — 4 513 | G (hR)
3 6| FTT1TH— g 5.0 2 1/2) (413) | SERE
R:TFyvaq K B:artOo-yry LS
K & ABB : -3-4- — HeEx (FE)
4l5]5 Fgaqada 4 3 7] r 1.(3;1).0 3-3-4-3 | 40.7 7 (i?;\i) }'LUJEIZ&
RN E L= B:FaITITY &% FIR
S8 o= — ALEE :34. ~6-8— . - FERE (BA
5l1l1lT1or95= 43 zu 1(334)5 5-6-8-7 | 40.8 8 :1_534) %ﬁ;
R:E=JE¥LLy b BiwiaOrH— e
3 H o3 | KOEHE 1:34.6 3-4-6-5 |41.2| — 5 510 | BEFEH (hsk)
Eﬂ 4 F3IFx .0 (3/4) (6) |WEMR
LNAT ==L B:RY—LE Y- =% 1E5h
3 s 3 | MihED 1:35.5 11-11-5-6 | 41.8 | — 10 a7 | RAF0E (FER)
78|10/ Ny F ¥ 3 54.0 ®) 45 | FIEER
Rewy)AdyR B:EaT7I142K =t
glzlg|wV7s1/0 i3 | BEW (173;75) 6-8-10-10 [41.3 | — | 9 :f:) Egﬁf (EIE)
L7 Rvq4¥ad—-> B4 /ILHLR Rk FR
B HMEE :35. —-6-7- . — WTRL (hR)
N . BRIV - ) R A R =
Z:A—RK7ITFqa~ B:XTY>F)XLy b ABFNANIS
SEIEER :35. —9-11- . — KIRE#BZ (hR)
10 o THFLYaYw 3 =5 (11315/;9) 8-9-11-11 | 41.4 3 (4_5; e
L:Fh¥<v71248 B 4xyaxvyy—1) allitie
e e = 3 | EtmEiE— 1:36.1 10-10-9-9 |42.2 | — 1| 454 | BAFIML (FEHH)
1 71 ZELKS T X)L # 54.0 (3/4) 1 o) |EEEA
LIVINATA—h— BT7IT7TN—<—F N7 7 — L4
® I —F—@EBIERL
13—7+— 9,11,(4,5),1,8,3,2,6,7,10
251—F— 11,9,5,(4,6),(1,3),8,2,7,10
da=3r= 11,9,6,5,10,4,3,1,7,8,2
43—F— 11,9,5,6,4,10,1,3,7,8,2
[ N3
B OB 1 240/ 74K 9-11 210M & 7-8 380M 3EHE 6-9-11 1,780H
8 B 1 130M 6-11 430M B = 9-11 430M K31 11-9-6 5,010
9 160/ 6-9 560 B H 11-9 690
6 260M

ABICOVWTRDTEEERROODE. TR LIV,




